3.50m

\ E /l
(@) /
\ 3 )
- 14,1m? —_ ’ |
Ny @ 1,5h
1 I B T
= Varje vecka
A Every week
4,70m L/ Jede woche
- - 7 Chaque semaine
_I Varje sasong
FH=0,6 m Every season
Jedes Jahr
NR. [Description MA ltem Number | Qty Chagque saison
1 [MVBF A2-70 M8x30 ISO 8677 8039278 3 \v
>EN 1176 2-5
2 |Cap 8 @27x11,5 mm 8005956 4 | >cPsc ) Im
3 |M6M -8 M8 ISO 7042 8042809 4 N
4 |Cover 8, @18x10mm 8005958 4 5;%\\ {
5 [1000x121x21 mm 610072-03 | 2 &
6 [1413 x 494 mm 8035585 2
7 |MVBF A2-70 M10x50 ISO 8677 8039294 | 4 Yisloyszo-
8 |M6M M10 8008796 | , HA Wi hags.com
(324103)
9 |@21,3x630 mm 8002626 | 1 Eldrax, S
10 [2182 x 1563 x 508 mm goss625 | 1 || MASW45912
8008849 1(2
11 |@9x18x2 mm Gazsoin | 4 (2)
12 IMVBF A2-70 M8x35 8039279 | 1 SSUQE>|LN [2019-02-04 |4




z
A

Description MA

ltem Number

Qty

1 [MVBF A2-70 M8x30 ISO 8677 8039278 | 3

2 |Cap 8 @27x11,5 mm 8005956 | 4

3 |M6M -8 M8 ISO 7042 8042809 | 4

4 |Cover 8, @18x10mm 8005958 4

5 1000x121x21 mm 610072-03 | 2

6 1413 x 494 mm 8035585 | 2

7 |[MVBF A2-70 M10x50 ISO 8677 8039294 | 4 Yisloyszo-

8 [M6M M10 8008796 | , HAGS W hags.com
(324103)

9 |@21,3x630 mm 8002626 | 1 Eldrax, S

10 [2182 x 1563 x 508 mm gsoss625 | 1 || MASW45912
8008849 2(2

11 |@9x18x2 mm Gasoin | 4 (2)

12 IMVBF A2-70 M8x35 8039279 | 1 SSUQE>|LN [2019-02-04 |4




	Sheet1
	Drawing View1
	Drawing View2
	Drawing View7

	Sheet2
	Drawing View10
	Detail View A (1 : 10)
	Detail View B (1 : 5)


